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	pos.
	δH, mult. (J in Hz)
	δC

	1
	-
	167.2

	2
	6.03, d (15.5)
	122.0

	3
	6.57, dd (10.6, 15.8)
	152.5

	4
	2.66, m
	41.6

	5
	3.51, m
	82.7

	6a
	0.73, m
	28.1

	6b
	2.02, m
	

	7
	1.96, m
	31.7

	8
	-
	79.0

	9
	-
	201.5

	10
	6.98, d (15.3)
	127.3

	11
	6.43, dd (9.4, 15.8)
	146.3

	12
	3.41, m 
	59.9

	13
	3.07, dd (1.8, 9.3)
	60.0

	14
	1.41, s
	50.5

	15
	5.41, m
	69.6

	16
	1.35, d (6.4)
	18.3

	17
	1.16, d (6.6)
	18.3

	18
	1.41, s
	26.2

	19
	3.69, m
	67.9

	
	4.12, dd (2.7, 10.3)
	

	1’
	4.25, d (7.7)
	105.9

	2’
	3.16, m
	75.7

	3’
	3.79, m
	71.9

	4’
	1.21, m
	38.4

	
	2.11, ddd (1.4, 5.0, 12.6)
	

	5’
	3.58, m
	68.6

	6’
	1.22, da
	21.1

	7’
	3.41, s
	57.2

	1’’
	4.59, d (8.0)
	102.0

	2’’
	3.09, dd (2.7, 8.0)
	81.6

	3’’
	3.22, m
	81.6

	4’’
	3.18, m
	74.4

	5’’
	3.67, m
	70.8

	6’’
	1.24, da
	17.9

	7’’
	3.56, s
	59.3

	8’’
	3.57, s
	61.9




aThese peaks overlapped and appeared to be a triplet.
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